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HX3—2 REMIEATILBESNSERISHIZEHE1/2) - i} | HmEEE | FHisEE
2MEFMOME | BRES | 140A1044 | B4 | BaE=TH | FiEM [EEMEREI=TH
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R ma | BT e | B2 | e | o e | B2 | BT e | B2 | TR | & |
1 100kN/m##8% % 1.00]0.00 ~ 2,51 139.32| 3m%*x#B2 5% -~ = = —| 100kN/mM%#BZ % 1.00{ 11.24 ~ 30.00 139.32| 3m%x#B 25 =l ~ - - =
s 1.00] 2.51 ~ 10.29 100.00f Zhkist | 0.00 ~ 10.29] 2.92 15.63 s 1.00f 500 ~ 11.24 100.00f Z=hl4t+ | 5.00 ~ 30.00f 2.92 15.63
9 100kN/m##8 %% 1.00{0.00 ~ 244 138.17|3m%x#B2 5% -~ = = —| 100kN/mM%#8Z % 1.00{ 11.44 ~ 31.53 138.17| 3m%x#B 25 =l ~ - - =
s 1.00| 2.44 ~ 10.22 100.00f Z=hki4t+ | 0.00 ~ 10.22| 2.89 15.48 s 1.00f 500 ~ 11.44 100.00f Z=hl4t+ | 5.00 ~ 31.53| 2.89 15.48
3 100kN/m##8 %% 1.00{ 0.00 ~ 342 155.01|3m%x# %% 0.00 ~ 1.21| 3.57 19.11| 100kN/m#%#B 2% 1.00{ 10.59 ~ 41.04 155.01| 3m%# % %| 30.00 ~ 41.04| 3.57 19.11
s 1.00{ 342 ~ 11.20 100.00| #+#list | 1.21 ~ 11.20| 3.00 16.05 s 1.00f 5.00 ~ 10.59 100.00f Z=hkl4t+ | 5.00 ~ 30.00f 3.00 16.05
4 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Fhiist -~ = = =
5 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Fhiist -~ = = =
6 100kN/mM%#BZ % -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Fhiist -~ = = =
7 100kN/mM%#BZ 5 -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = FhLst = -~ = -| Fhiist -~ = = =
8 100kN/m##8 %% 1.00{ 0.00 ~ 2.69 142.35|3m%x# %% 0.00 ~ 0.84 3.36 17.98| 100kN/m#%#8 2% 1.00{ 11.39 ~ 4231 142.35|3m%x#% %] 40.00 ~ 42.31| 3.36 17.98
s 1.00] 2.69 ~ 1047 100.00f ZhLl9t | 0.84 ~ 10.47| 3.00 16.05 st 1.00f 500 ~ 11.39 100.00f Z=hl4t+ | 5.00 ~ 40.00f 3.00 16.05
9 100kN/m##8 %% 1.00{ 0.00 ~ 0.06 100.81|3m%*x#8 25 -~ = = —| 100kN/mM%#BZ % 1.00{ 11.28 ~ 11.43 100.81|3m%x#B 25 =l ~ - - =
s 1.00/0.06 ~ 7.84 100.00f Z=hkist | 0.00 ~ 7.84| 2.39 12.80 s 1.00f 500 ~ 11.28 100.00f Zhl4t | 5.00 ~ 11.43| 2.39 12.80
10 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ 5 -~ = = =
zh st -l -~ = -| Fhiist -~ = = = FhLst = -~ = -| Fhiist -~ = = =
11 100kN/m##8% % 1.00{0.00 ~ 1.08 116.29| 3m%x#B 25 -~ = = —| 100kN/mM%#BZ % 1.00{ 13.36 ~ 17.68 116.29| 3m%x#B 25 =l ~ - - =
s 1.00{1.08 ~ 8.87 100.00( Z=hkl4t+ | 0.00 ~ 8.87| 2.81 15.04 st 1.00f 5.00 ~ 13.36 100.00f Zhi4t | 5.00 ~ 17.68| 2.81 15.04
12 100kN/m##8% % 1.00{ 0.00 ~ 1.69 125.81|3m%x#B2 5 -~ = = —| 100kN/mM%#BZ % 1.00{ 1206 ~ 18.58 125.81|3m%x#B25 =l ~ - - =
s 1.00{1.69 ~ 947 100.00f Zhklst | 0.00 ~ 9.47| 2.70 14.43 s 1.00f 5.00 ~ 12.06 100.00f Z=hl4t+ | 5.00 ~ 1858 2.70 14.43
13 100kN/m##8% % 1.00{0.00 ~ 2.04 131.48|3m%#% %] 0.00 ~ 0.06] 3.04 16.27| 100kN/m#%#B 2% 1.00{ 11.80 ~ 20.05 131.48| 3m%x#% %] 20.00 ~ 20.05| 3.04 16.27
s 1.00{2.04 ~ 9.82 100.00f Zhkl9t | 0.06 ~ 9.82| 3.00 16.05 s 1.00f 500 ~ 11.80 100.00f Z=hl4t+ | 5.00 ~ 20.00f 3.00 16.05
19 100kN/m##8% % 1.00{0.00 ~ 2.36 136.76| 3m%x#B 25 -~ = = —| 100kN/mM%#BZ % 1.00{ 10.56 ~ 20.05 136.76| 3m%x B2 5% =l ~ - - =
s 1.00{2.36 ~ 10.14 100.00f Z=hkist | 0.00 ~ 10.14| 2.76 14.75 s 1.00f 5.00 ~ 10.56 100.00f Z=hl4t | 5.00 ~ 20.05| 2.76 14.75
20 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
ZTh st 1.00/0.00 ~ 7.39 94.30| FhLst | 0.00 ~ 7.39[ 2.41 12.91 s 1.00f 500 ~ 10.42 94.30| =hblst | 500 ~ 10.42| 2.41 12.5&
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91 100kN/mM%#BZ 5% -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
s 1.00{ 0.00 ~ 438 54.62| =hLlst | 000 ~ 4.38] 2.20 11.76 s 1.00f 500 ~ 6.42 54.62| =hLl4t | 500 ~ 642 2.20 11.76
99 100kN/mM##BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ 5 -~ = = =
s 1.00{0.00 ~ 4.16 51.99| ZhLlst |0.00 ~ 4.16| 2.25 12.04 s 1.00f 500 ~ 6.46 51.99 Zhlst | 500 ~ 6.46[ 2.25 12.04
23 100kN/m##8 %% 1.00{ 0.00 ~ 3.23 151.70| 3m%#% %] 0.00 ~ 1.11| 3.50 18.76| 100kN/m#%#B 2% 1.00{ 10.73 ~ 41.06 151.70| 3m%# % %| 30.00 ~ 41.06| 3.50 18.76
s 1.00{3.23 ~ 11.02 100.00| #+# kst | 1.11 ~ 11.02| 3.00 16.05 s 1.00f 5.00 ~ 10.73 100.00f Z=hkl4t+ | 5.00 ~ 30.00f 3.00 16.05
04 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Zh st -~ = = =
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ FhLst ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~ |
=EFR




